The group G is isomorphic to the group labelled by [ 27, 5 ] in the Small Groups library.

Ordinary character table of G = C3 x C3 x C3:

la  3a 3b 3c 3d 3e 3f 3g 3h 3i 3j 3k 3l 3m 3n 30 3p 3q 3r 3s 3t 3u 3v 3w 3z 3y 3z
X1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
x2 | 1 EB) E(3)? 1 E(3) E(3)? 1 E(3) E(3)? 1 E(3) E(3)? 1 E(3) E(3)? 1 E(3) E(3)? 1 E(3) E(3)? 1 E(3) E(3)? 1 E(3) E(3)?
xs | 1 E@3)? E@3) 1 EB)? E@B) 1 EB)? E@3) 1 E3)? E@3) 1 EB)? E@3) 1 EB)? E@3) 1 E3)? E(@3) 1 EB)? E@3) 1 EB)? E@3)
Xa | 1 1 1 E(3) E@B) E@B3) E@3)? E@3)? E(@3)? 1 1 1 E(3) E@B) E@B) E@B3)? E@3)? E(@3)? 1 1 1 E(3) E@B) E@B) E@B)? E@3)? E@3)?
xs |1 EGB) EB)? EGB) EG? 1 EGB)? 1 EBS) 1 EGB) EGB)? E@B) EG)? 1 E(3)?2 1 E@) 1 BB E@B)? BB BB 1 EB3? 1 BE@3)
Xe |1 EGB)? E@B3) EGB) 1 BE@3)? EG)? B3 1 1 EB3)? EGB) EB) 1 EGB)? EB)?® EB) 1 1 EB3)? EB) EB) 1 EGB)? EB)?® EB) 1
x7 | 1 1 1 E(3)? E(3)? EB)? E@B) E@B) E@) 1 1 1 E(3)> E(3)2 E(3)? EB) EB) E®3) 1 1 1 E(3)? E(3)> E(3)? EB) EB) E@B)
xs | 1 BB EB3? EGB? 1 B3 EQB3 EB3? 1 1 EB) EGB)? EGB? 1 EB) EB) EGB? 1 1 EB) EGB)? EB? 1 EB) EB) EGB? 1
xo | 1 EB)? E@B) E@3)? E@3) 1 E(3) 1 E(3)? 1 E3)? E@B) EQ3)? E@3) 1 E(3) 1 E(3)? 1 E3)? E@B) E(3)? E@3) 1 E(3) 1 E(3)?
xwo| 1 1 1 1 1 1 1 1 1 E@3) EB) EB) EGB) EB) EGB) EGB) EGB) EGB) E(B)? E(B3)? E(B)? E(B3)? E(B)? E(3)? E(3)? E(3)? B(3)?
xul|l BB EB? 1 BB EB? 1 BB EB3? BB EGB? 1 EB3 EB3? 1 EB3 EB® 1 EB3® 1 E@B EB3? 1 E@B EB3® 1 E@3)
xi2 | 1 E3)? E(@3) 1 E(3)?2 E(3) 1 E(3)2 E@B) E@) 1 E(3)2 E(3) 1 E(3)2 E(3) 1 E(3)2 E(3)2 E@) 1 E(3)2 E(3) 1 E(3)?2 E(3) 1
x13 | 1 1 1 E(3) E@B) E@B) E@B3)? E@B)? EB)? EB) EB) EB) E@B)? E@B)? E@3)? 1 1 1 E(3)? E(3)? E(3)? 1 1 1 E@3) E@B) E3)
xie| 1 EB) E@B)? E@3) E@3)? 1 E(3)? 1 EB) E@B) E(3)? 1 E(3)? 1 E(3) 1 E@3) E@3)? E(3)2 1 E(3) 1 E@B) E(3)? EB) E(3)? 1
xi5| 1 E3)? E@3) EB3) 1 E(3)2 E(3)? E@3) 1 E(3) 1 E(3)2 E(3)? E3) 1 1 E(3)2 E@3) E3)? E(@3) 1 1 E(3)2 E@3) E(3) 1 E(3)?
x| 1 1 1 E(3)? E@B)? E@B)? EB) EB) EB) EB) EB) EB) 1 1 1 E@B3)? E@B)? EB)? E(3)? EB)? E@B)? EB) E@B3) EB) 1 1 1
xir| 1 EGB) E®B)? E@B)? 1 EG@) EB) EB3? 1 B3 EB@B)? 1 1 B(3) E@3)? EGB? 1 EB) EB?® 1 EB3) E@B) EGB? 1 1 B(3) B(3)
xis| 1 E3)? EB) E3)? E®B3) 1 E(3) 1 E(3)? E(3) 1 E(3)? 1 E(3)?2 E(3) E3)? E(@) 1 E(3)?2 E(3) 1 E(3 1 E(3)? 1 E(3)2 E(3)
X1 | 1 1 1 1 1 1 1 1 1 E3)? E@B)? E3)? E@B)? E3)? E@B)? E3)? E@B)? E3)? EGB) EB) EGB) EQB) EB) EQB3) EB) EQ3) E®)
x20 | 1 E3) E(3)? 1 E(3) E(3)? 1 E(3) E(3)? E(3)? 1 E(3) E(3)? 1 E(3) E(3)? 1 E(3) E(3) E(3)? 1 E(3) E(3)? 1 E(3) E(3)? 1
x| 1 EGB)? EB) 1 EB? BB 1 EB? BB EB? BB 1 EB? EB 1 EB? EB 1 EB3 1 EB3? EB3 1 EB3? EB3 1 B@3)?
x22 | 1 1 1 E(3) E@B) EB) E@B)? EMB)? E@B)? EMB)? EG3)? EB)? 1 1 1 E(3) E@B) E@B) E@B) EB) E@B) EMB)? E(3)? EGB)?* 1 1 1
xes | 1 EB) EB)? EB) E3)? 1 E(3)? 1 E(3) E(3)? 1 E(3) 1 E(3) E(3)? E(3) E(3)? 1 E(3) E(3)? 1 E(3)? 1 E(3) 1 E(3) FE(3)?
xee | 1 EB3)? BB BB 1 EB3)? EB? BB 1  EB3? BB 1 1 E@B)? EGB) EB) 1 E@B)? EB) 1 E@B)? E@B)? EB3) 1 1 E@B)? E@3)
X2s | 1 1 1 EB)? E@B)? EB)? E@B) EB) E@B) E3)? E@B)? E3)? EB) E@B3) E@3) 1 1 1 E(3) E@3) E(@3) 1 1 1 E3)? E@3)* E@3)?
xes | 1 EB3) EB)? E@B3)? 1 EG@) EB) EB3? 1 EB? 1  EB3) E@B) EGB)? 1 1 B(3) E@B)? EB) E@3? 1 1 B(3) E@B)? EGB? 1 E®3)
xer | 1 EGB)? E(3) E@B3)? EB 1 EB) 1 E@B)? EGB? EG 1 E@B3 1 EB3? 1 E®3? E@B EB 1 E@3? 1 E@3? EB3) EB3? EB3) 1
Trivial source character table of G =2 C3 x C3 x C3 at p = 3:
Normalisers IV; Ny | No | N3 | Ny | N5 | Ng | N7 | Ng | Nog | Nig | N11 | N12 | N13 | N1a | Nis | Nig | N1z | Nig | Nig | Nog | No1 | Nog | Nog | Noy | Nos | Nag | Naz | Nog
p-subgroups of G' up to conjugacy in G P |\ P | P3| Py | P | B | Pr | B | Py | Pio| Piu | Pro| Pis | Piau| Pis | Pig | Pir| Pis | Piog| Pag | Por | Pao | Pag | Pag | Pos | Pag | Par | Pas
Representatives n; € N; la | la | la | la |1la|la | 1la|la | 1la| la | la | 1la | 1la | la | la | 1la | 1la | 1la | 1la | 1la | 1la | 1la | 1la | 1la | 1la | la | la | la
l-xyi+1-xo+1-xa+1-xa+1-xs+1-x¢6+1-x7+1-xg+1-xo+1-x0+1-x11+1-x12+1-x13+1-x1a+1-x15+1-x6+1-x17+1-x18+1-x19+1-x0+1-x21+1-xo2o+1-x3+1-x2a+1-Xxo5+1-Xx26+1-Xx27 27| 0O | O | O] O] O] 0] 0| O 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x24+0-x3+1-xa+0-x5+0-x6+1-x7+0-x8+0-x9+1-x10+0-x11+0-x12+1-x13+0-x14+0-x15+1-x16+0-x17+0-x18+1-x19+0-x20+0-x21 +1-x2204+0-x23+0-Xx24+1-Xx254+0-x26+0-Xx27| 9 | 9| 0| 0] 0] 0| 0] 0] O 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x14+1-x24+1-x34+0-xa+0-x5+0-x6+0-x7+0-xs+0-xo+1-x10+1-x11+1-x12+0-x13+0-x14+0-x15+0-x16+0-x174+0-x18+1-x19+1-x20+1-x21 +0-x22+0-x23+0-%x244+0-x25+0-%x26+0-Xx27| 9| 01| 9| 0] 0] 0| 0] 0] O0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x14+0-x2+0-x3+0-xa+0-x54+1-x6+0-x7+1-x8+0-xXo+1-x10+0-x11+0-x12+0-x13+0-x1a+1-x15+0-x16+1-x17+0-x18+1-X190+0-X20+0-x21+0-x220+0-x23+1-x24+0-Xx25+1-X26+0-x27] 9 [ 0O | O |9 | 0] 0] 0] 0] O 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+0-x3+0-xa+1-x5+0-x6+0-x7+0-xg+1-xo+1-X10+0-x11+0-x12+0-x13+1-x14a+0-x15+0-x16+0-x17+1-x18+1-XxX19+0-x20+0-x21+0-x220+1-x23+0-x24+0-Xx25+0-x26+1-XxX27] 9| 0| 0| 0|90 0] 0|0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
l-xi1+1-x2+1-xa+1-xa+1-xs+1-x¢6+1-x7+1-xs+1-x90+0-x10+0-x11+0-x124+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-Xx25+0-x26+0-Xx27] 9 | 0O | O] O] O] 9] 0] 0] O 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+0-x3+1-x4a+0-x5+0-x6+1-x7+0-x8+0-xo0+0-X10+0-x11+1-x12+0-x13+0-x14a+1-x15+0-x16+0-x17+1-x18+0-x19+1-x20+0-x21+0-x220+1-x23+0-x24+0-x25+1-X26+0-X27] 9 | 0| 0|0 |]O0O]| 0] 9] 0]|O0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x14+0-x2+0-x3+1-xa+0-x5+0-x6+1-x7+0-xg+0-x90+0-x10+1-x11+0-x12+0-x13+1-x14a+0-x15+0-x16+1-x17+0-x18+0-Xx19+0-x20+1-Xx21 +0-x22+0-x23+1-x24a+0-Xx25+0-x26+1-X27| 9|0 |0 | 0| 0] 0] O 910 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+1-x2o+1-x3+0-xa+0-x5+0-x6+0-x7+0-x8+0-x9+0-Xx10+0-x11+0-x12+0-Xx13+0-x14+0-x15+1-x16+1-x17+1-x18+0-x190+0-x20+0-x21+1-x220+1-x23+1-Xx24+0-x25+0-x26+0-x27| 9 | 0O | 0| 0] 0] 0| 0] 0] 9 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-xi+1-xo+1-x3+0-xa+0-x5+0-x6+0-x7+0-x8+0-x9+0-x10+0-x11+0-x12+1-x13+1-x1a+1-x15+0-x16+0-x17+0-x18+0-x19+0-x20+0-x21 +0-x20+0-x23+0-x2a+1-x25+1-x26+1-X27| 9 | 0| 0| O] 0] 0| 0] 0] O 9 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+0-x3+0-x4+0-xs+1-x6+0-x7+1-x8+0-x9+0-Xx10+0-x11+1-x12+0-x13+1-x14a+0-x15+1-x16+0-x17+0-x18+0-x19+1-x20+0-x21+1-Xx220+0-x23+0-x24+0-x25+0-x26+1-Xx27] 9| 0| 0| 0] 0] 0] 0] 0| O 0 9 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x14+0-x2+0-x3+0-xa+0-x5+1-x6+0-x7+1-xs+0-x90+0-x10+1-x11+0-x12+1-x13+0-x14+0-x15+0-x16+0-x17+1-x18+0-x190+0-x20+1-Xx21+0-x22+1-Xx23+0-x2a+1-Xx25+0-x26+0-x27| 9 0 0 0 0 0 0 0 0 0 0 9 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+0-x3+0-xa+1-x5+0-x6+0-x7+0-xg+1-xX9+0-X10+0-x11+1-x12+1-x13+0-x14+0-x15+0-x16+1-x17+0-x18+0-x19+1-x20+0-x21+0-x220+0-x23+1-x2a+1-X25+0-x26+0-Xx27] 9 | 0| 0| 0] 0] 0] 0] 0| O 0 0 0 9 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x14+0-x2+0-x3+0-xa+1-x5+0-x6+0-x7+0-xg+1-xo0+0-x10+1-x11+0-x12+0-x13+0-x14a+1-x15+1-x16+0-x17+0-x18+0-x19+0-x20+1-x21+1-Xx22+0-x23+0-x24+0-x25+1-x26+0-x27] 9 0 0 0 0 0 0 0 0 0 0 0 0 9 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+1-xo+1-x3+0-x4a+0-x5+0-x6+0-x7+0-x8+0-x9+0-Xx10+0-x11+0-x12+0-Xx13+0-x14+0-x15+0-x16+0-x17+0-x18+0-Xx190+0-x20+0-x21 +0-x220+0-x23+0-x24+0-x25+0-x26+0-x27| 3 | 0| 3| 0] 0|3 |0] 0] 3 3 0 0 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+0-x3+1-xa+0-x5+0-x6+1-x7+0-x8+0-x90+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-x19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27| 3 31 0]0|01] 3] 3 310 0 0 0 0 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0
1-x14+0-x2+0-x3+0-xa+1-x54+0-x6+0-x7+0-xs+1-xo0+0-X10+0-x11+0-x12+0-x13+0-x14+0-x15+0-X16+0-x17+0-x18+0-x10+0-x20+0-X21+0-x22+0-x23+0-x24+0-xo5+0-X26+0-X27| 3 [ O | 0| 0| 3] 3| 0] 0] 0 0 0 0 3 3 0 0 3 0 0 0 0 0 0 0 0 0 0 0
1-x14+0-x24+0-x34+0-xa+0-x5+1-x6+0-x7+1-xs+0-x0+0-x10+0-x11+0-x124+0-x13+0-x14+0-x15+0-x16+0-x174+0-x18+0-x19+0-x20+0-x21 +0-x22+0-x23+0-%x244+0-x25+0-%x26+0-x27| 3 | 0| 0| 3] 0|3 | 0] 0] 0 0 3 3 0 0 0 0 0 3 0 0 0 0 0 0 0 0 0 0
1-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-x8+0-x9+1-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+1-x19+0-x20+0-Xx21 +0-x2204+0-x23+0-X24+0-x25+0-x26+0-Xx27| 3 | 3 | 3|3 | 3]0 0] 0] O0 0 0 0 0 0 0 0 0 0 3 0 0 0 0 0 0 0 0 0
1-x1+0-x2+0-x3+0-x4a+0-x5+0-x6+0-x7+0-xg+0-x90+0-x10+1-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-Xx19+0-x20+1-Xx21+0-x22+0-x23+0-%24a+0-x25+0-%26+0-Xx27| 3 |0 |3 | 0| 0] 0] O 310 0 0 3 0 3 0 0 0 0 0 3 0 0 0 0 0 0 0 0
1-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-x8+0-x9+0-x10+0-x11+1-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-x19+1-x20+0-Xx21 +0-x204+0-x23+0-X24+0-x254+0-x26+0-Xx27| 3 | O | 3| 0] 0] 0| 3] 0] O0 0 3 0 3 0 0 0 0 0 0 0 3 0 0 0 0 0 0 0
1-x1+0-x2+0-x3+0-x4+0-x5+0-x6+0-x7+0-xs+0-x90+0-Xx10+0-x11+0-x12+1-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x23+0-x2a+1-x25+0-x26+0-x27| 3 3 0 0 0 0 0 0 0 3 0 3 3 0 0 0 0 0 0 0 0 3 0 0 0 0 0 0
1-x14+0-x2+0-x3+0-xa+0-x54+0-x6+0-x7+0-x8+0-Xo04+0-x10+0-x11+0-x12+0-x13+0-x14a+0-x15+1-x16+0-x17+0-x18+0-Xx190+0-X204+0-x21+1-x220+0-x23+0-x24+0-Xx25+0-X26+0-x27| 3 [ 3 |0 | 0| 0] 0] 0| 0] 3 0 3 0 0 3 0 0 0 0 0 0 0 0 3 0 0 0 0 0
1-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-x8+0-x9+0-Xx10+0-x11+0-x12+0-x13+1-X14+0-x15+0-x16+0-x17+0-x18+0-x19+0-x20+0-x21 +0-x220+0-x23+0-x24+0-x25+0-x26+1"x27| 3 0 0 0 3 0 0 3 0 3 3 0 0 0 0 0 0 0 0 0 0 0 0 3 0 0 0 0
1-x14+0-x2+0-x3+0-x44+0-x5+0-x6+0-x74+0-xs+0-x90+0-x10+0-x11+0-x124+0-x13+0-x14+0-x15+0-x16+0-x17+1-x18+0-x190+0-x20+0-x21 +0-x22+1-x23+0-x24+0-Xx25+0-x26+0-Xx27| 3 | 0| O] 0|3 |0] 3]0/ 3 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0 3 0 0 0
1-x1+0-x2+0-x3+0-x4+0-x5+0-x6+0-x7+0-xs+0-x90+0-X10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+1-x17+0-x18+0-Xx19+0-x20+0-x21+0-x220+0-x23+1-x24+0-x25+0-x26+0-Xx27| 3 | 0| 0|3 |]0]| 0] 0] 3|3 0 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0 3 0 0
1-x14+0-x2+0-x3+0-x4a+0-x5+0-x6+0-x7+0-xs+0-x90+0-x10+0-x11+0-x124+0-x13+0-x14+1-x15+0-x16+0-x17+0-x18+0-x19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+1-x26+0-x27| 3 0 0 3 0 0 3 0 0 3 0 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0 3 0
1-x14+0-x2+0-x3+0-x4+0-x5+0-X6+0-x7+0-xs+0-x0+0-Xx10+0-Xx11+0-x12+0-x13+0-x14+0-x15+0-X16+0-Xx17+0-x18+0-Xx10+0-x20+0-x21+0-X20+0-x23+0-x24+0-x25+0-x6+0-x27| 1 | 1 | 1 | 1 | 1 | 1] 1] 1]1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
Py = Group(()]) = 1
Py, = Group([(7,8,9)]) = C3
P; = Group([(4,5,6)]) = C3
Py = Group([(4,5,6)(7,8,9)]) = C3
Ps = GTOUP([(4,6,5)(7,8,9)]) =C3
Ps = Group([(1,2,3)]) = C3
P7 = Group([(1,2,3)(7,8,9)]) = C3
= Group([(1,3,2)(7,8,9)]) = C3
= Group([(1,2,3)(4,5,6)]) = C3
P10 — Group(|(1,3,2)(4,5,6)]) = C3
P11 = Group([(1,2,3)(4,5,6)(7,8,9)]) = C3
P15 = Group([(1,3,2)(4,5,6)(7,8,9)]) = C3
P35 = Group([(1,2,3)(4,6,5)(7,8,9)]) = C3
Py, = Group([(1,3,2)(4,6,5)(7,8,9)]) = C3
Pys = Group([(4,5,6),(1,2,3)]) 2 C3 x C3
Pig = Group([(7,8,9),(1,2,3)]) = C3 x C3
P17 = Group([(4,5,6)(7,9,8),(1,2,3)]) = C3 x C3
Py = Group([(4,5,6)(7,8,9),(1,2,3)]) 2 C3x C3
Pyg = Group([(7,8,9), (4,5,6)]) =2 C3 x C3
Py = Group([(4,5,6),(1,2,3)(7,9,8)]) 2 C3 x C3
Py = Group([(4,5,6),(1,2,3)(7,8,9)]) 2 C3 x C3
Py = Group([(7,8,9), (1,2, 3)(4,6,5)]) = C3 x C3
Py3 = Group([(7,8,9),(1,2,3)(4,5,6)]) = C3 x C3
Py = Group([(4,5,6)(7,9,8),(1,2,3)(7,9,8)]) = C3 x C3
Pys = Group([(4,5,6)(7,9,8),(1,2,3)(7,8,9)]) = C3 x C3
Pas = Group([(4,5,6)(7,8,9), (1,2,3)(7,9,8)]) = C3 x C3
Por = Group([(4,5,6)(7,8,9), (1,2,3)(7,8,9)]) = C3 x C3
Pys = Group(|(7,8,9), (4,5,6),(1,2,3)]) 2 C3x C3 x C3
Ny = Group([(1,2,3), (4,5,6),(7,8,9)]) 2 C3x C3x C3
Ny = Group([(1,2,3), (4,5,6),(7,8,9)]) 2 C3x C3x C3
N3 = Group([(1,2,3), (4,5,6),(7,8,9)]) = C3x C3 x C3
Ny = Group([(1,2,3),(4,5,6),(7,8,9)]) 2 C3x C3 x C3
N5 = Group([(1,2,3), (4,5,6),(7,8,9)]) 2 C3x C3x C3
Ns = Group([(1,2,3), (4,5,6),(7,8,9)]) 2 C3x C3x C3
Ny = Group([(1,2,3), (4,5,6), (7,8,9)]) = C3 x C3 x C3
Ns = Group([(1,2,3), (4,5,6),(7,8,9)]) = C3x C3 x C3
Ny = Group([(1,2,3),(4,5,6),(7,8,9)]) 2 C3x C3x C3
Nio = Group([(1,2,3), (4,5,6), (7,8,9)]) = C3 x C3 x C3
Ny; = Group([(1,2,3),(4,5,6),(7,8,9)]) 2 C3 x C3x C3
Niys = Group([(1,2,3),(4,5,6),(7,8,9)]) 2 C3x C3x C3
Nis = Group([(1,2,3), (4,5,6), (7,8,9)]) = C3 x C3 x C3
Ni4 = Group([(1,2,3),(4,5,6),(7,8,9)]) =2 C3 x C3 x C3
Ni5 = Group([(1,2,3),(4,5,6),(7,8,9)]) =2 C3x C3 x C3
Nig = Group([(1,2,3), (4,5,6),(7,8,9)]) = C3 x C3 x C3
Ny7 = Group([(1,2,3), (4,5,6),(7,8,9)]) 2 C3 x C3 x C3
Nis = Group([(1,2,3), (4,5,6),(7,8,9)]) 2 C3x C3x C3
Nig = Group([(1,2,3), (4,5,6),(7,8,9)]) 2 C3x C3xC3
Nog = Group([(1,2,3),(4,5,6),(7,8,9)]) =2 C3x C3 x C3
Nay = Group([(1,2,3),(4,5,6),(7,8,9)]) =2 C3x C3x C3
Nay = Group([(1,2,3),(4,5,6),(7,8,9)]) 2 C3x C3x C3
Nog = Group([(1,2,3), (4,5,6), (7,8,9)]) = C3 x C3 x C3
Noy = Group([(1,2,3), (4,5,6),(7,8,9)]) 2 C3x C3xC3
Nos = Group([(1,2,3),(4,5,6),(7,8,9)]) =2 C3x C3 x C3
Nog = Group([(1,2,3),(4,5,6),(7,8,9)]) =2 C3x C3 x C3
Na7 = Group([(1,2,3), (4,5,6),(7,8,9)]) =2 C3 x C3 x C3
Nag = Group([(1,2,3),(4,5,6),(7,8,9)]) 2 C3x C3x C3




